Find the pH of 0.17 M methylamine.
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We found a Kb value for methylamine,
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SO it's a base. Solve the base ionization
equilibrium to find HYDROXIDE ion concentration.
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Find the pH of 0.11 M hypochlorous acid
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We have an acid, so.we need to shgige’r e acid ionization equilibrium of HCIO.
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® Find the pH of 0.030 M sodium hydroxide.

Strong base! It completely ionizes: MacH — Nat 04~ ]
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The concentration of hydroxide ion in solution is set by the base ... in this case it just
equals whatever the concentration of the NaOH is.
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* An 0.15 M solution of monoprotic acid has a pH of 2.80 at 25 C. Find the Ka of the acid
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In this case, we are ASKED to find Ka ... and therefore we can't look it up in our book.
Set up an equilibrium chart to reduce the number of variables in the Ka expression.
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We have two variables, "x" and "Ka".
If we can find out what "x" is, we can
use it to get Ka. Whatis "x"?
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Find the pH of a solution made of 25 mL of 0.10 M hydrofluoric acid
mixed with 75 mL of 0.075 M NaF.

This is a BUFFER solution. [It's made of a weak acid (HF) and its conjugate base (fluoride
ion). We can save time by using the HENDERSON-HASSELBALCH EQUATION!
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Since we mixed these solutions o make the buffer, find the new concentrations of

HF and fluoride ion.
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